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Section : General Intelligence and Reasoning

Q1 oot & 37 wEg & AT B, T @9 F FEy B O 39 3N @R Falead o F g

&

X1 BT, TN, IR
X2 gigey, T, sga
X3 FleTaTE, IRV, Higemd

Ans

Question ID : 81616113337
Status : Answered
Chosen Option: 3

Q.2 = AR dear-gm Ry g & e @ &= et eef & uas anm & ofk 399 @ U ot 2199
ST TET-7 T T TR
Ans 7 1.(547,258)
X 2.(723,144)
25 3.(812,121)
X 4. (546, 225)

Question ID : 81616112316
Status : Answered
Chosen Option : 1

Q.3 g famen go e S ues oR 9 3 avg @ Sdfdq § ot <= fig o Je i e e
TR @ Hafaa g1
(12,121, 169)
Ans X 1.(11,144,196)
< 2.(14,196, 225)
2 3.(16, 161, 256)
«# 4. (17,256, 324)

QuestionID: 81616112318
Status : Answered
Chosen Option : 4




Q.4 fig g famedl & 9 ag auf-ugg g4 it fAmfaf@d e & vsfg (2) & e w smg?
MCN, NCO, OCP, PCQ, ?
Ans X 1.PQR
« 2.QCR
X 3.0CQ
XK 4.PCS
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QuestionID : 81616113414
Status : Answered
Chosen Option : 2

Q.5 Four words have been given, out of which three are alike in some manner and one is
different. Select the word that is different.

Ans  ;# 1. Diarrhoea
25 2. Scurvy
25 3. Goitre
25 4. Anaemia

Question ID : 81616112306
Status : Answered
Chosen Option : 1

Q.6 wwm & 9@ Fr 3 -3 TRUTaET =S TS §, e Gohl W 3R F, G, H, |, J 3R K 3ifea o
T §1 g FEE o A1 3R P A Soe F Ad Besd I |

Ans K1 [

Question ID : 81616112323
Status : Answered
Chosen Option : 4

Q.7 3R} & 39 AT T4 &2 Sit &1 78 2feenn # R el A shffies 9 @ @ 9 W 2faen &t
gof &

JL_N_J_PND_NP_DJ_P_D
Ans X 1.M,D,N,PN,J,0
& 2.PM,D,N,J,0O,N
7 3.PD,M,J,N,O,N
5 4.M,D,P.N,J,N,0

Question ID : 81616113422
Status : Answered
Chosen Option: 3




Q.8 Ry 7y Rl # @ ag T g4 o F=faf@e e & vsifg (7) & = w a2
121, 169, 225, 289, ?
Ans X' 1.410
X 2.305
X 3.398
<7 4.367
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QuestionID : 81616112415
Status : Answered
Chosen Option : 4

Q9 a7 Rawew Fla T S & S e 7 wieafead & (TplT @ g 7@ gl

Ans .
1.
" p_4
11

X
=
A EE

1
—1

Question ID : 81616113435

Chosen Option : 2

Status : Marked For Review

Q.10 Select the option in which the words share the same relationship as that shared by the given
pair of words.

Pulmonologist : Lungs
Ans  # 1.Endocrinologist : Glands

£ 2. Ophthalmologist : Ears
23 3. Nephrologist : Nerves
25 4. Bones : Orthopaedic

Question ID : 81616113419
Status : Answered
Chosen Option : 1




Q.11 wfordia RIgl @1 ag 9t 9aier g4 59 st ®u 9 * Righ & A = @A @ gfisror dgfed
Bl S

45%24%72*20%12*7
Ans X 1= %+, 5, -
o 2%, 5,5, o+
2038, %+, -, =
x4.+,+,—,=,x
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Question ID : 81616112319
Status : Answered
Chosen Option : 2

Q12 R a1v Reedt & ¥ 97 apla I Y FfAfEa Juer # wafes (2) F we | e

- ?
N N
Ans A
x1. ~
[
Cl
<
xa| ]

x4 L

Question ID : 81616112422
Status : Answered
Chosen Option : 2
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Q13 g o T CH T B e i e e A
Ap69D M|

oI M I)Q(IB eqL

s2 I pdeoqi

x2 7beaDpdyre

<. TbhaeDdyre
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Question ID : 81616113436
Status : Answered
Chosen Option : 2

Q.14 3ifhd, Tora iR A2 ATHE i fohched & fafva Sl S AfRw e 12:9: 7 F SIgua A g,
SR TRT=aT 15 : 9 : 8 & IguTd A g1 af siftha wifsy & fRder & g sroeht 25% smg &t s=a
T §, @ Sifthd, Tor iR A it = o1 siguTa R 82

Ans 5 1.23:18:11
X 2.5:8:7
o 3.15:18:11
25 4.25:16:13

Question ID : 81616113431
Status : Not Answered
Chosen Option : --

Ans a1 7
2.8
X3 9
X410

Question ID : 81616112322
Status : Answered
Chosen Option : 2

any
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Q.16 @g fepea gA Sit =i} S 9 I yeR 9dfid g, f9 ueaR gt dwer @ ugddt e sk sét

Ans

T @ Ut g Seidd g1

11:81::7:121::8:36

21,10
X 2.12
25318
w” 4.13
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Question ID : 81616113325
Status : Answered
Chosen Option : 4

Q.17 fw g G &1 egeen sremad o ofiR ag T gA Sit ueiRig (?) & T WR o Hehdl 87

Ans

1234110
61335
9?60

7 1.21
X 2.23
X 3.18
X 4.19

Question ID : 81616113327
Status : Answered
Chosen Option : 1

Q.18 g g =T iR et &t ear= @ ud | sl A € 1 SRR B 9 A g8, WA # 98

Ans

7 1. et s || STER0T e &
5 2.7t fFsend | sk € Fsenf |1 SeRoT e @
25 3. Shaet (R | SITEROT T §

X 4. s | SR 1| @Y argeror v &

I &9 & 14 a2t 9 39 udia g, RuffRa aR 6 @9 3 fAsed Rg 7o su=i @ aiffe w0
@ IR0 &

FUT:
oft ke, AT &1
100% U<eh, Aiehe &1
o siffear, I €I
fArepf

I.H‘lﬂ.?‘ﬁ',mél
1. Tt Rl & sRffat g9t Y duram &1

Question ID: 81616113323
Status : Not Answered
Chosen Option : --




Q.19 Qe uRarR & &1 et §1 shiwett & &1 o= &1 ayRar, siwvrenrer $i et g st fah aftr ar o &1
foreht, smiwrett bt 38 &1 sffem, Sy i arg= & St s sitwwrenier @1 der g1 aor, Afor o der @ it
fFgew gl
al ayRAT @1 it @ o Tsiw &2

Ans o7 1. SioTH/AaRE A/t

X 2.4t
#< 3.9
£ 4. T
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Question [D : 81616113423
Status : Answered
Chosen Option : 1

any

Q.20 g el fderea g Sit 3y 71q 2regl ot 39 oA A g2ifar & [ s | & sitishl el & omd &1

1. Hypodermic

2. Hypocrite

3. Hysterical

4. Hypothermia
5. Hypotenuse

Ans X' 1.1,2,3,4,5
7 2.2,1,54,3

Question ID : 81616112405
Status : Answered
Chosen Option : 2
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Q.21 ma@mﬁmtmgﬁaﬁmmmaﬁtm@gmwmmmaﬁm
IAT §| TH FEIS H Gioed W T FAT GQT?

™
-~
Pl ~

a
mmad

Ans
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Question ID : 81616113437

Status : Answered

Chosen Option: 3

Q.22 a3 faerea g Sit ¥R 21eg @ I HaR Heifda 8, 9 U g@RT 21 g 2res @ H@efda g1
IRTOTER : T2 L AYRT : ?
Ans X 1.7m
5 2. Merasy

7 3.3
2} 4.

Question [D : 81616112408

Status : Not Answered

Chosen Option : --
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& forar sem?
Ans 7 1. MILCCP

2 2. CCILMP
2< 3. MCLICP
2 4.IMCLCP

Q.23 fonedt fafe gevwmur # 'INHALE' @6t 'REEDIH’ & u # forr sitar @1 @t &t wrar & ‘MIGHTY' @t

QuestionID: 81616113319
Status : Not Answered

Chosen Option : --

ST Iuf-THg T TG He |
Ans 7 1.QL
X 2.KP

2 3.6T
X 4.MN

Q.24 = R gui-wg faw g & o 9 i+ foRedt dgof A s 99 & ofik S99 & Ueh SR 8139

Question ID : 81616112406
Status : Answered
Chosen Option : 1

uTaT § ‘VARUN' Bt & forar strgm?
Ans ;7 1.380
22,403
X3.234
2 4.176

Q.25 Tt fafre evmor # 'RAJ &l '87’ & wu H 3iR ‘GITA' @l ‘148’ & wu # forar sirar g1 & 3<h

Question D : 81616112310
Status : Answered
Chosen Option: 3

Section : General Awareness

Ans X 1. gerontology
w# 2. ornithology
#5 3. pomology
2% 4. ichthyology

Q.1 The scientific study of birds is called .

Question ID : 81616113345
Status : Answered
Chosen Option: 2
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Q.2 include/s glycogen, poly-B- hydroxybutyrate granules, sulphur granules and gas
vesicles.

Ans X 1. Mesosomes
< 2. Cytoplasm
% 3. Plasma membrane

£% 4. Flagella

Question D : 81616112434
Status : Not Answered
Chosen Option : --

Q.3 A type of court called 'Kantakasodhana' was prevalent in the Empire.

Ans 7 1. Mauryan
£% 2. Rashtrakuta
% 3. Kushana
25 4. Chola

Question ID : 81616112341
Status : Not Answered
Chosen Option : --

Q.4 What is the boiling point at standard atmospheric pressure at sea-level and 45° latitude of
water on the Celsius scale?

Ans 7 1.100°C
X 2.200°C
2 3.150°C
& 4.50°C

Question ID : 81616112334
Status : Not Answered
Chosen Option : --

Q.5 A | foFem sa@ 2021 # 10,000 m Eis # e ‘3isR-20' Rept i dts Rar?

Ans X 1. RIFAR
o7 2. iffa it

£5 3. TS AR
X 4. 3ge e

Question ID : 81616113359
Status : Not Answered
Chosen Option : --




Q.10 wTST & Try HifAa Icrgs T & SRUT IdeTghd geloT avgail & it aa= 6 s &
&Y nee @ R famar s gawar 21

Ans 7 1. TG AT I5h
2X 2. Hieid IudifaT asn
25 3. A am
2 4. g5t T
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Question ID : 81616112331
Status : Not Answered
Chosen Option : --

Q.11 =1 & 9 fora g A gr v 'sop! e mgtewa smalfoia foman sirar 82
Ans X 1.dfeg

252, 3

o 3. onfden

X 4. fEr

Question ID : 81616113338
Status : Answered
Chosen Option : 3

Q.12 A= & & it 7 orTa o A oRa R &Y Fa i @ (e Hi @) 9 et @2
Ans X 1.%wm

X 2.

3. areh

< 4. TeTeR

Question ID : 81616112337
Status : Not Answered
Chosen Option : -~

Q.13 1 # & fre o=a § TSaUTe Tt SR SR HaRIT aUT 39S Hafdra Iakh il & Fides & ey
# iy & org=3% 371H & aga Ry Swierd & v &2

Ans X 1.ffwee
o 2. STBUTTA TR
25 3. s
K 4. ArTele

Question ID: 81616112346
Status : Not Answered
Chosen Option : --
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Q.14 o 2020 #, forg Rt IoT A IR-Tehriaeh T hi A 31 =0T & g 59 adf w1 gqua
geRusiHl-ereh HIE’ (‘UNIATF') @l qREhR Shar?

Ans o7 1.

25 2. Mar

K 3.7

25 4. affeTg

Question ID : 81616112445
Status : Not Answered
Chosen Option : --

Q.15 =1 & 9 fore =g ol o 2019-2020 < g ugTh ok IaR-gHi wredi & g acaare &= d
s ey gie & fow g ReR gr1 gwnfaa fear war ar?

Ans 7 1.39H
& 2. fafaem
X 3. Avika

X 4. fg

Question ID : 81616113449
Status : Not Answered
Chosen Option : --

Q.16 WRas) 2021 & A1 A & forg =9 & WRA & Ugst Sis? UTeh ohl Ig1e fohar mar 2
Ans o7 1.

X 2. ufgm sme

< 3. afifean

X 4. pieh

Question ID : 81616113462
Status : Answered
Chosen Option : 1

Q.17 He & U teter (wingspan) are faemerad T ueft R A d S arg?
Ans X 1. keSS

X 2. 3t

o 3. IR sreameta

AR

Question ID : 81616113447
Status : Not Answered
Chosen Option : --
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Q.18 fAmr & @ fora @fver @ enfasmETsht # g1 31 Sau= giar g2
Ans X 1.dien

2. Tifsam
X 4. ST

Question ID : 81616113342
Status : Not Answered
Chosen Option : --

Q.19 SHaRt 2021 dF AT SIFRRY & AR e WRedta w0 & gt oif e dwear & a8 aig 47
Ans 7 1. HERIE

X 2. afaeTg

25 3. TSI

25 4. ORI

Question ID : 81616112440
Status : Not Answered
Chosen Option : --

Q.20 . TrewiuTeaTERY A e 7 @ fore Tou | TS Iamig w1 A fohar am?
Ans X 1.36IH

K 2. TR

& 3. TERTE

&7 4. AAeTg

QuestionID : 81616113453
Status : Not Answered
Chosen Option : --

Q.21 Rl weaa 6 use ok sifow afgen anf¥ewr wi= 42
Ans X 1.3 gafed

<7 2. Aern g

25 3. gear gig st

KA. T

Question ID : 81616113350
Status : Not Answered
Chosen Option : --




Q.6 STagER 2020 H, TR 99z el @ g4 1. (UNEP), g.q9. 55, &1.311. (UNWTO),
Tw.£.5. (FEE) iR ond.g.4.¢A. (IUCN) S vreearea Tl arelt siawerdia St g ‘s vl
AT & FEfAd far

Ans X' 1.4
X 2.6
2 3.10
7 4.8
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Question [D : 81616112453
Status : Not Answered
Chosen Option : --

Q.7 oms. gLt (veda siteifies ferra ) w1 perea e A @ e asa A [ @2
Ans 7 1. HERIY

X 2. gharon

X 3. ufm s

X 4. &I

Question ID : 81616113441

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.8 = d & fh fhew ot 939 sreprert sraTdy  ‘siawwrdla thiwr fhert’ sioft & forg wiRa &t
3fAeptiRer ufaf® & w=u A =afaa forar mar 82

Ans X 1.3 hE &9 U
w2, Sieliheg
/< 3. et Rame
2 4. To gOIRTER e

Question ID : 81616112451
Status : Answered
Chosen Option : 2

Q.9 frd @ e ©IF R WA g 7 IR A Hed UR 39T TUH Iuger f&ar ar?
Ans X 1.3oRMR
K 2. g

' 3. RATY

X 4. gfer

Question ID : 81616113353
Status : Answered
Chosen Option : 4




Q.22 ugrae! i, AegaTelts affw dwmer (1546 @ 176 erarsdh) & <Y meian § IR el ot

HefHa e g1
Ans 7 1. fqug
X 2.Ra
X 3. o
/< 4. 5T
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Question ID : 81616112329
Status : Not Answered
Chosen Option : --

Q.23 =T & @ i Efeaa iffar i (IPL) & Smuer ofiz uget sreget ofk shfAsr &2

Ans X 1. SATHIEA STATRaT
25 2. Gdly urfes
X 3.3 g gRQR
w7 4. dferd A

Question ID : 81616112449
Status : Not Answered
Chosen Option : --

Q.24 TISHET MG Td YR AT Gehar uRRue & sreget A d @ sl &2

Ans X 1.3mufd
w2, et
X 3. 3uEfa
K 4. AgTTgaTsy

Question ID : 81616113458
Status : Answered
Chosen Option : 2

Q.25 SHaRt 2021 fi AR & rgaR, Ay a=asiia v & YRAT vafaror fRAen FriFT & Fis daws

& A7
Ans X 1.79.09. &t
w7 2. TasgaTe Sre
< 3. < st
X 4. fovre wlgeft

Question ID: 81616113456
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude




Q1 40 km Fr gl a7 T F A, B ¥ 2 h 3% A ¥ 3R A HOA T F SRR Far g, A 80 km

azremﬁﬁragB#@ h 3% BT &1 B 1 39l =t & 120 km & gl I¥ FA # Fraar wAw
(h ) TEET?

Ans 1
v 12

2
. 2
K2 1=

3
1

X3 1=
3

1

Xa 1=
4
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Question ID : 81616113372
Status : Not Answered
Chosen Option : --

Q.2 If sin(20+x) °=c0s 60°,0 < (20 +x) <90 ¥, & 2sin?(3x+ 15)° — cosec2(2x + 10)° T AT ¥ HL

Ans a1 3

X2 -2
K3 -1

a
v -3

Question ID : 81616112371
Status : Answered
Chosen Option : 2

03 o (Za+%— l) =113 Fﬁ-(g_}az_]_ ﬂi) HTATA AT HL

Ans 1,132
X2 121
X3 110
X4 148

Question ID : 81616112366
Status : Answered
Chosen Option : 1

an]
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Q.4 .
(x—y+2)2—(x—y—2)? & AT AT FL

Ans X1 dyz—dxz
K2 2xz+2yz
3 dxz —4yz
X4 dxz +4yz

Question ID : 81616112465
Status : Answered
Chosen Option : 1

Qs ﬁ:mqﬁr#agaﬁarmmgmzﬁ =Es =TT &7 A (m #) Fa Hw1
Ans

F

X2

[CS I I S RS

v [

<7 3.

xa

B | e

Question [D: 81616113474
Status : Answered
Chosen Option: 3

Q.6

P =% FT AT 7T F

3X8+90f6—2+3X(65—2)x24+18=+30f3

Ans 5
w1 =12

K2 2—

X3 2=
K4 —4

Question ID : 81616112455
Status : Not Answered
Chosen Option : --




Q.7 Cr=ifra e &1 AU FY 3R 3% a5 BT 77 92T #1 el &
et 50 cufeadr #r &fe 3w g B

T ) @t fr aear

200 & |12

250 ¥ FH |26

300 wm |34

350 Fwm |40

400w |50

3200 ¥ FF FAET aTe AFIET BT FEIT F, TI00 TT 3TY 310F FART Irer cufeqar fr e ¥
I A F

Ans X1.B:5
<23 :10
3314
<4617
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Question ID : 81616112779
Status : Answered
Chosen Option: 3

Q.8 fzm s/m g5 s3m@ Wi WEWE A, B, C, D 3k E # g sk Afgensit & www & g @
fafir wreHt ¥ gou 3R At wewt ot e
2 geU  afer

350 - 325
300

250 250

~
g
N
M
=

afet 3 wen
g g

&

w
=3

forw wrue & qout $r FEm, s vl deE F Aot & siwa gew S " AR sgEes §2
Ans K1D

K2 C

X3 A

4 B

Question D : 81616113384
Status : Answered
Chosen Option: 3

s Guide



Q9 A& T9F, B & 957 ¥ 20% 3170 &, O9H a9 C & a5 ¥ 30% 310F &1 A # a1+, C &F
Tl T Toclelm Fiaerd 3ifees &7

Ans X1 44
X2 35.89
< 3. 59
o4 56
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Question [D : 81616112357
Status : Answered
Chosen Option : 4

Q.10 sieg =afea, el w1 &1 18 R & qu &< " €1 5 Rl & e & a1g, 6 Foigy FF OF & §
ﬁm*ﬁﬁwﬁﬁmmaﬁaﬂﬁ%mﬁmﬁﬁﬁﬁw@m

Ans 1. 91
X2 12
X3 24
w4 27

Question ID : 81616112361
Status : Not Answered
Chosen Option : --

Q1 fx a2+ 12 +c2+216=12(a+b—20) %, O Vab—bc —ca F1 HF AT FL
Ans X1 845

K 2. 445

3. 6\/{3

X 4. 34/5

Question ID : 81616113375
Status : Not Answered
Chosen Option : --

Q.12 19 e WYUROT @St Y &7 W), He WRTa Ty 3 a¥ F 781,840 3k 5 a¥ & 792,400 & S ¥
g == W (e +2)% @ S g, A B a¥ F o afy T H Geph @ e

Ans o 1. 10
<2 20
X3 8

x4 122
2

Question ID : 81616112360
Status : Answered
Chosen Option : 1

s Guide



Q13 g waAEE s grpfaw st & et @ ifed 233 § Tew 99 e 3R wed o e #
Mg wa

Ans X117
v2 15
K313
K11
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Question ID : 81616113466
Status : Not Answered
Chosen Option : --

Q.14 fdr goa &, A AB 3R CD, E W fd=ofed &< §1 3f& CD = 16 ecm, DE = 6 cm, AE =
12 cm 3R BE = x cm &, & x &1 AT &1 &I

Ans 1. R
X2 B
X3 17
<49

Question ID : 81616113478
Status : Not Answered
Chosen Option : --

Q.15 fo Al (x100 & aore #) #F W & 3R W et SREW F 39 sfAw F 9 T (A, B, C,
D, E) & &ier 91m {1 37 FoiaIor Fr U I At # i Thw E

14
12
12 1
E 10 9
‘.ﬁ 8
6 5
E 4 ‘
B D 2
2 A
E
0
2 3 4 3 6 7

3200 71 3O Afber 2400 ¥ & e Aoy arer He=ial i G @, 1400 71 3% AT 2600
¥ FA e Al T FANRET F TS ¥ I A S

Ans X123 : 14
<2 23 1 41
<341 23
4 14 1 23

Question ID : 81616113386
Status : Not Answered
Chosen Option : --




Q.16 forel g X 30F %7 Tod W 27% 310 sifd Bam T ¢l AR sifFa @ R x % Fge aad W
sfr 6.68% T @I g, T x H AT AT B

Ans ;118
X215
X3 20
X4 125
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Question ID : 81616113366

Status : Not Answered
Chosen Option : --

Q.17 &g O 3R 13 cm = a1y geq &, T AB Wi=r e €1 A 3R B W T a1$ w9 @Y, P W 59
TR Flaeoied FXdl § o 2APB=60° €1 7f& &% O ¥ AB % gl 5 cm &, & AP & &g (cm #)

ek

Ans X1 -]2

2 24

X3 11

K422

QuestionID: 81616112368
Status : Not Answered
Chosen Option : --

Q.18 AABC #, 55 AB R fig D 3% &R & 7 BD = 3 cm 3 DA = 4 cm §1 BC R fig E 57 ¥R &
% DE I AC &1 ABDE &7 &iS%d : WHoia agsst ACED T &1l &1 Al Al 1

Ans X1.33:16

X216 : 33
3.9 1 40
K4 40 : 9

Question ID : 81616113481
Status : Not Answered
Chosen Option : --

19 tan35°cot 40°tan45°cot 50°tanb5° & HIT AT &<l

Ans

X1,
2

X2 =

—A

s

< 3

-
P2

7 41

Question ID : 81616112877
Status : Not Answered
Chosen Option : --
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Q.20 P ABC v wHag el 71 AB 3R AC W wawer: Rig D 3R E 39 9&R f&va € 7 DE, BC &
A § AR DE & war$ BC #r 3mfr §1 9§ AD + CE + BC = 30 ¢m &, @ =igsjss BCED &
qRAT (cm &) AT HL

Ans X145
w2 375
X3 35
X4 25
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Question ID : 81616112470
Status : Not Answered
Chosen Option : --

Q.21 Fa=ifha QIR &1 AT HT 3R 3TF a5 BT 1T T2 & Sea? &
aiferesr & QT a1T 3w gy Ul F AR Bed-Bew vt & sregae awe arer ol & gEdr &t

e §)
p — ~ o
ICEiC
A 36 48 59 57
B 45 54 55 48
C 55 36 56 51
D 45 48 55 53
E 48 44 52 55

TR A R C # e Fea e & snde e A oo o S §E, e B ik D A
FAT ST AT I aTel OTFT ST TCIT HT hdel T T §72

Ans 71120
<2 83.3
#3708
X4 200

Question ID: 81616112781
Status : Answered
Chosen Option : 1

Q22 A% B & HE avg 25% W W = B ¥ C #F Ag IxG 15% T W AN B W A, A F AT §
0 FA g1 A & T 38g & F9 o7 R #) AF F

A1 640
X2 400
K3 240
X4 546

Question ID : 81616112459
Status : Answered
Chosen Option : 1

s Guide




OB 1 IE T AT FL B TEI 72k460k, 6 ¥ TaTeT 8 Sre?

Ans 514
X2 9
X3 8
<4 7
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Question ID : 81616112353
Status : Answered
Chosen Option : 1

Q24 Ffr sec (5a—15°) = cosec(15°— 2a) ¥, & cosa + sin2a + tan (1.5@) & ASF AT F

Ans \/1\)@_]_1

sz@—l
K3 42+1
X4 4f3-1

Question ID : 81616113383
Status : Not Answered
Chosen Option : --

Q25 FFEmtANRBHF ITNT5: 8% AFA AR, TAF 5 AT AN &, A 3T 2 : 3 &

sar &1 A 3R B 7 3R A W
ANS X112

<220

V3 15

K410

Question ID : 81616113369
Status : Answered
Chosen Option: 3

Section : English Comprehension

Q.1 Select the most appropriate option to fill in the blank.

Creditcard _____ has increased in recent years.
Ans X 1. fluke
25 2. freed
< 3. fraud
25 4. flake

Question ID : 81616112402
Status : Answered
Chosen Option: 3

s Guide




Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

After the old building was pulled out, the building contractor surveyed the progress of the
work.

Ans X 1.was pulled up
25 2. was pulled over
«# 3. was pulled down
25 4. No substitution

Your Personal E

Question ID : 81616113494
Status : Answered
Chosen Option: 3

Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. According to his hypothesis, now known as the neuron theory, each nerve cell
communicates with others through contiguity rather than continuity.

B. The watershed of all studies of the nervous system was an observation made in 1889 by
Spanish scientist Santiago Ramoén y Cajal.

C. It has since been proved that Cajal’s theory is not universally true, but his central idea has
remained an accurate guiding principle for all further study.

D. That is, communication between adjacent but separate cells must take place across the
space and barriers separating them.

Ans X 1.ADCB
2 2.CDAB
X 3.BCDA
<7 4.BADC

Question ID : 81616113401
Status : Answered
Chosen Option: 3

Q.4 Select the most appropriate synonym of the given word.
Tag (n)
Ans X 1.Syphon
£< 2. Drain

25 3. Pump
«# 4. Label

Question ID : 81616113503
Status : Answered
Chosen Option : 4

any
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Q.5 Select the most appropriate meaning of the given idiom.

Tide someone over
Ans X 1. Get a boat ready to cross a river or water body

£ 2. Ask someone for financial assistance
2% 3. Complete a voyage successfully

< 4. Give temporary help, usually financial

Your Personal Exan]s Guide

Question D : 81616113407
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.

My neighbour was admitted to the hospital when he developed an allergic to some
medicine he took.

Ans X 1.result
25 2. rejoinder
«# 3. reaction
25 4. retort

QuestionID: 81616113514
Status : Answered
Chosen Option: 3

Q.7 Select the option that can be used as a one-word substitute for the given group of words.

One who does not believe in the existence of God.
Ans 7 1. Atheist
5 2. Cynic
25 3. Anarchist
25 4. Egotist

QuestionID : 81616112399
Status : Answered
Chosen Option: 3

Q.8 Select the most appropriate meaning of the given idiom.

A bad egg
Ans X 1. Someone who regularly makes mistakes

< 2. Someone who is dishonest and unreliable
25 3. Someone who doesn't like eggs

25 4. Someone who likes to break eggs

Question ID : 81616113406
Status : Answered
Chosen Option : 2




Q.9 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

Ranbir could not went / to the award ceremony / as he was busy / shooting / for a film / in
Maldives.

Ans ;1. Ranbir could not went
25 2. for afilm
2% 3.to the award ceremony

25 4. as he was busy

Your Personal Exan]s Guide

Question ID : 81616112379
Status : Not Answered
Chosen Option: --

Q.10 Select the option that can be used as a one-word substitute for the given group of words.
An arrangement of flowers that is usually given as a present.
Ans X 1.Boutique
#% 2. Bracket
X 3. Basket

«# 4. Bouquet

QuestionID: 81616112398
Status : Answered
Chosen Option : 4

Q.11 Select the option that expresses the given sentence in passive voice.

You can solve this problem.
Ans X 1. This problem ought to be solved by you.

25 2. This problem should be solved by you.
< 3. This problem can be solved by you.
5 4. This problem might be solved by you.

QuestionID: 81616112380
Status : Answered
Chosen Option: 3

Q.12 Select the INCORRECTLY spelt word.

Ans  # 1. Concensus
25 2. Articulate
25 3. Colossal
2% 4. Magnificent

Question ID : 81616112502
Status : Answered
Chosen Option : 1




Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The apple a day keeps the doctor away.
Ans X 1. No substitution

£5 2. The apples a day

25 3. Aapple a day
< 4. An apple a day

Your Personal EXanjs Guide

Question [D: 81616112382
Status : Not Answered
Chosen Option : --

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Dad: “Yes, tell me.”

B. Laxmi: “Dad, 1 need to speak to you.”

C. Dad: "I think you are still too young for it.”
D. Laxmi: “Please buy me a scooter.”

Ans  # 1.BADC
#< 2. BCDA
25 3.DCBA
7< 4. ABDC

Question ID : 81616112491
Status : Answered
Chosen Option : 1

Q.15 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If there is no error, select ‘No
error’.

Modern science have / broken many myths / about our food and diet.
Ans X 1.No error

2% 2. broken many myths
% 3. about our food and diet

«# 4. Modern science have

QuestionID: 81616113388
Status : Not Answered
Chosen Option : --

Q.16 Select the INCORRECTLY spelt word.
Ans 7 1. Calender

25 2. Cadre
25 3. Commit
£ 4. Carnivorous

Question ID: 81616112501
Status : Answered
Chosen Option : 4
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Q.17 Select the most appropriate synonym of the given word.
Detrimental

Ans 7 1. Harmful

25 2. Friendly

X 3. Smart

5 4. Intellectual

Question ID : 81616113504
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate ANTONYM of the given word.
Blemish
Ans  # 1. Perfection
< 2. Stain
X 3. Damage
% 4. Discolouration

Question ID : 81616113405
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate ANTONYM of the given word.
Anxiety
Ans 7 1. Certainty
25 2. Restlessness
25 3. Nervousness

25 4. Panic

Question ID : 81616112495
Status : Answered
Chosen Option : 1

Q.20 Select the option that expresses the given sentence in indirect speech.

The professor said to the media persons, “From our research we have come to the
conclusion that there is life on that planet.”
Ans X 1. The professor informed the media persons that from our research we have come to

the conclusion that there had been life on that planet.

5 2. The professor said to the media persons from our research you had come to the
conclusion that there was life on that planet.

< 3. The professor said to the media persons that from their research they had come to
the conclusion that there was life on that planet.

2% 4. The professor told to the media persons that from your research you have come to
the conclusion that there is life on that planet.

Question ID : 81616113492
Status : Answered
Chosen Option : 1




Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the five
(5) senses, a kind of supernatural sense.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.

w” 1. are
K 2. of
25 3lis
2 4.in

Your Personal E:

Question ID : 81616112486
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense€’ is a power to be aware (4) things independently of the five
(5) senses, a kind of supernatural sense.

SubQuestion No : 22

any

Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.happiness
<« 2. smell
% 3. anger
25 4. sadness
Question D : 81616112487
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
3) to as a 'sixth sense’ is a power to be aware (4) things independently of the five
(5) senses, a kind of supernatural sense.
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.reminded
23 2. retained

< 3. referred
£ 4. required

Question [D : 81616112488
Status : Answered
Chosen Option : 4
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Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
?3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the five
(5) senses, a kind of supernatural sense.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.

1. of
X 2. at
25 3.0n
2 4in

Your Personal E

Question ID : 81616112489
Status : Answered
Chosen Option : 1

any

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense€’ is a power to be aware (4) things independently of the five
(5) senses, a kind of supernatural sense.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

£< 1. geological
25 2. geographical
«# 3. physical

25 4. botanical

Question ID : 81616112490
Status : Answered
Chosen Option : 4
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